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WA 31.0 JtiEE 25.2 1,728 1,404 1,404 10 Va9
LA T & 5.8 1,944 1,188 1,188 10 A
IZALA 32.8 JtiEE 32.1 — 162 — 0] A 25
ES) 1.7 5 & 1.2 3,240 — 3,024 0] A S
ZIx5 BRE 0.3 1,728 1,404 1,404 A LL
[E<ELY 14.8 £ % 14.7 - 1,836 — 15 A L
HTE 1.4 2 [ 0.7 2,592 1,944 1,728 4f A L
ZEDOH 6.9 BERE 44 2,376 2,160 2,052 4f A M
Fry 42.0 BHE 29.1 1512 1,242 1,188 0] A 8
FrRY B X 8.3 1,080 — 864 10 Yav 8
IE5NAZES 1.1 BRE 0.1 — 2,700 — 4f A M
= 6.9 JtiEE 5.3 3,888 3,402 1,890 5 3
Ch¥E 1.2 i B 0.6 3,888 — 1,620 3 L
125 2.1 = I 1.0 6,750 5,400 4,050 5/ A M
t)L1)— 1.9 & % 1.9 2,025 — 675 10 A LL
T RAINSHR 1.4 B A 1.0 86 — 76 01| vay M
LAX 35.7 E % 35.6 1,944 1,620 1,620 10 A 16
LAEX BRE 0.1 1,296 1,080 756 1 A M
ForHYA 1.3 BRE 0.6 2,808 2592 2,376 4f A L
=p5Y 21.1 BERE 0.9 1,944 1,620 1,620 5 L
=p5Y R 15.9 - 1,620 - 5
NESSED) 0.9 BRE - - - PR
7y 6.6 BRE 0.8 — 2,160 — 4f A LL
Al B X 5.1 2,160 2,160 1,728 5] A L
k< 26.1 EES 14.1 3,564 3,564 2,808 4 vay L
el X & 9.5 2,376 — 2,268 4 B 24
S 7.2 EES 3.0 270 259 238 02| vay M
Nt 4 X & 1.6 4,536 — 4320 3 Lyny
E—<> 5.9 X & 3.9 109 109 86 0.15 A M
F—<> ] 0.7 5,994 5,346 4,536 5
T35 1.2 BRE 1.2 86 70 70 0.1 A M
[ZA5Y 15 BRE 1.4 1,663 756 648 3l A M
SPVAITFA 0.4 BRE 0.3 3,240 2376 2,376 2l A
MALE 16.8 BRE 16.0 1,944 1,944 1,728 5| tHA L
MALE BRE 2,052 1,404 1,296 5| tHA M
[ES AT 16.9 JtiEE 15.9 1,080 918 864 10
IEhLs 5 # 0.2 3,456 — 3,132 0] A LL
=L 0.6 BRE 0.6 3,240 2916 2,700 5/ A
TN BRE - 1,404 - 10| #'1
hLE 47 JtiEE 47 5,400 — 5,184 10 A LL
f=Fh&E 88.6 JtiEE 85.8 4,320 3,996 3,888 200 A La4
f=FhE JtiEE - 1,080 - 10
=FhE h = 2.8 2,700 2,160 2,160 20 LL
A1z 0.9 th F 0.6 378 — 346 1 4L
ELLV=T 1.2 BERE 0.1 119 - 97 01 M M
HELLV=IT E 5 0.5 - 173 - 0.25| M M
ZDEET 49 = I 1.5 59 38 38 0.1 A
LHL 2.1 2 [ 2.1 97 — 76 0.2
S ER T 400.7
B=

o fm B & E i = E hfE =7 & £ B
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() ATT=®) (M) (M) (M) (kg)

BMAHMAEE 7.3
INGRH DA 0.5 BRE 0.5 — 3,240 — 5| 7hva L
ING RHAPNA BERE - 5,400 - 5| 7hv1 M
ING RHEPNA BERE - 5,940 - 5| 7hv1 S
LEY 1.0 F Y 0.3 6,804 5,184 5,184 17 165
INLULT 1.7 = I 1.7 7,020 5,724 3,888 17 88
L7 2)1LY 0.4 mr2Y 0.4 5,184 — 1,296 15 40
YATE 11.9
2B 8.3 5 & 7.9 - 2916 - 10[ 74v1 36
HA%ZLE 20.9
ZDHAL 17.4 = [ 7.6 5,184 — 4,860 10 C 4L
3HEH 25
3% 25 Z B 2.3 - 4,968 — 5] vay 15
SESE 3.9
Bl& 1.0 E K 0.9 540 486 432 0.35] vay 40
EA—* 0.8 = I 0.4 4,320 — 3,888 4 6
~NI1J—A E X - 378 — 03| 742 LL
AOVEF 0.1
7—ILR 0.1
INFF 14.3 EYEY 13.6 5,584 3,564 3,285 15
NAFyFTIL 24 EYEY 24 3,780 3,780 3,240 10 6
FoA4T)LY 2.9 —oT 2.9 6,156 — 4,050 75 4
RERET 76.5




